

12/26/2023 09:00 AM | Delivery 12/27/2023 09:00 AM | Event Date 12/28/2023 09:00 AM | Strike - TBD PARDI EVENTS

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

PO: Shipping Address: Waldorf Astoria Monarch Beach 1 Monarch Beach Resort N, Dana Point, CA 92629

Point of Contact : Ellen #562-340-6611

Description		Qtty	Price		Total
General					
			Total Gen	Total General	
Entrance Lawn					
	Chandeliers - York - White Flowers 43" To Be hung on truss -Provided by Client - Rushing Color TBD	3	\$920.00	Т	\$2,760.00
			Total Entrance La	Total Entrance Lawn	
Chupah Area					
	Chandeliers - York - White Flowers 43" 43"W X 44"H - 46LBS - 300 Watts	9	\$920.00	Т	\$8,280.00
	Dining Chairs - Florence - White & Wood Frame (200 max) 20.5"W x 21.5"L x 40"H	200	\$34.50	Т	\$6,900.00
	Lacer cut Panels To Create a facade for Existing Gazebo Front	1	\$0.00	Т	\$0.00
	Lacer cut Panels to Create a Baffle Behind the Chuppah	1	\$0.00	Т	\$0.00
			Total Chupah A	Total Chupah Area	
Foyer to Pacific	Ballroom				
	Garden Bars - Jardin Du Champ Elysees - Hedge Round 12' Laser Cut Front With Flowers and Wood Top In Off white 12'Diam x 43"H	1	\$5,750.00	Т	\$5,750.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves Off White 4'2"D x 7'2"H - Color Upon Request	1	\$322.00	Т	\$322.00
	Accent Tables - Capitola - Metal - Matte Sage (4 max) 14-3/4" Round x 22-1/2"H	4	\$115.00	T	\$460.00

Description		Qtty	Price		Total
Talkar as a	Benches - Nice - Velvet & Fringe - Taupe 55" x 21" x 19"H	6	\$149.50	Т	\$897.00
A STATE OF THE PARTY OF THE PAR	Ottomans - Nice - Velvet & Fringe - Taupe 20 â Pnd x 19â H	8	\$103.50	Т	\$828.00
	Table Cloth In Velvet For buffet Serpentine tables to be provided by client	2	\$0.00	Т	\$0.00
		Total Foyer to Pacific Ballroom		\$8,257.00	
Pacific Ballroom					
123	Dining Table - St Tropez - Faux White Marble 8' 8'W x 48"L x 30"H	10	\$345.00	Т	\$3,450.00
III	Dining Table - Florence - Rectangular Wood 10'	11	\$575.00	Т	\$6,325.00
	Dining Table - Florence - Rectangular Wood 10'	1	\$575.00	Т	\$575.00
M	Dining Chairs - Tuscany - Velvet W/ Wood Legs To Be used on Wood specialty Tables 20"W x 25"L x 38"H	120	\$40.25	Т	\$4,830.00
	Tuscany Dining Chairs In Celadon Green	120	\$28.75	Т	\$3,450.00
	Dining Chairs - Palermo - White (180 Max) 16"W x 19"L x 36"H - Seat Cushion Cover Color Upon Request	180	\$34.50	Т	\$6,210.00
	Dining Chairs - Monaco - All White (120 max)	120	\$34.50	Т	\$4,140.00
	Dining Chairs - Aspen - White Wood W/ White Linen (300 max) 18" X 21" X 32"H	180	\$34.50	Т	\$6,210.00
-	Garden Arches - Jardin Du Champ Elysees - Hedge Arch With Backing to Enclose the Dancing Area in Green 11'W x 4'D x 13'H	10	\$2,300.00	Т	\$23,000.00
	Garden Benches - Lost Gardens - Porch Bench Painted in Off White 45.75"W x 19"D x 40.5"H	4	\$287.50	Т	\$1,150.00
	Garden Bistro & Stand Up Tables - Lost Gardens - Bistro Painted in Off White 26" Diam x 30"H	4	\$172.50	T	\$690.00

Total	Price	Qtty		Description
\$460.00	57.50 T	8	Garden Dining Chairs - Lost Gardens - Bistro Chair Painted in Off White 16.5"W x 19.75"D x 34.5"H	A
\$552.00	38.00 T	4	Garden Accent & Coffee Tables - Lost Gardens - Nesting Tables Painted in Off White Small: 13.25"Diam x 19.50"H Large: 15.50"Diam x 23.50"H	
\$1,196.00	299.00 T	4	Barback - Tokyo - Straight Basic 8' - Metal In Off white 8'W x 18"L x 8'3"H - Frame Color Upon Request	
\$62,238.00	eific Ballroom	To		
			гор	Stage Back Dr
\$12,650.00	325.00 T	2	Barback - Curved Alcoves W/ Shelves Separated in Sets of 2 to create overlapping Arches, with Shelves, LED and painted in Color tbd 22'W x 18"L x 10'H	
\$5,520.00	380.00 T	4	Chandeliers TBD	
\$18,170.00	ge Back Drop	Tot		
				Services
\$3,600.00	500.00	6	Rooms For installers and Manage from 26th to the 28th	
\$400.00	200.00	2	Rooms for Over Night Crew 27 to 28th	
\$1,980.00	98.00	10	Per-diems from 26-27-28	
\$528.00	32.00	4	Per-diems from 27 to 28	
\$5,400.00	540.00	10	Trucking & Gas Sur Charge - TBD	
\$6,000.00	500.00	10	Labor for Delivery on December 26th	
\$8,400.00	500.00	14	Labor For Delivery on December 27th	
\$9,100.00	550.00	14	Strike Over Night Crew	
\$3,500.00	500.00	1	Manager on site - Diagrams and Consultation	
\$106,605.00 \$38,908.00 \$4,264.20 \$2,132.10 \$10,127.48 (\$0.00) \$162,036.78	Total Products: Total Labor/Services/Misc: Wear & Tear (4.00%): Packing (2.00%): Taxes: Discounts:		hecks payable to Revelry, Inc. Ieliveries and pick-ups all invoices must be pay in full ne contract and sign it are Subject to Change upon Final Order	Note: Prior to d Please ready th Notes
\$162,036.78	Payments:			
	ervices/Misc: Tear (4.00%): king (2.00%): Taxes : Discounts: Total:		leliveries and pick-ups all invoices must be pay in full ne contract and sign it	Note: Prior to d Please ready th Notes

Balance: \$162,036.78